Year : 1999

1. The LCM of two numbers is 864 and
their HCF is 144. If one of the num-
ber is 288, the other number is
T T W A 864 M WE 144 71
Ift 399§ v HEw 288 %, o T Hew
R B
(a) 576 (b) 1296 (¢] 432 (d) 144

2. LCM of two numbers is 225 and
their HCF is 5. If one number is
25, the other number will be;

3 TR B T, 225 T4 W 58 A
I A0 wom 25 2, A 3 dEm 9 W
fal]5 (b)25 (c) 45 (d) 225

3. The LCM of two numbers is 30 and
their HCF is 5. One of the num-
bers is 10. The other is number
will be
2 HEmS W WE 225 0 HE 58 AR
I9H ¥ T WA 10 %, A qud dem i
220 (B)25 {c) 15 (d) 5

4. The HCF and LCM of two numbers
are 13 and 455 respectively. If one
of the numbers lies between 75 and
125, then, that number is :
¥ Wl W 0E, § 9.9, FH: 13 a9
455 #| 9 wF e 75 941 125 F Wi
2, M 7 dem T 22
@ 78 (b} 91 [c) 104 (d) 117

5.  The least number which when di-
vided by 4, 6, 8, 12 and 16 leaves a
remainder of 2 in each case is :
u® JFew wew 7 ¢ e 4, 6, 8, 12
W 167 WM [ | To feafy § 29
T 2
(8) 46 (b)48 [c) 50 (d) 56

6.  The least number, which when di-
vided by 12, 15, 20 or 54 leav
remainder of 4 in each case i
% g g 1 €, e 12, 15,

54 % 9 3 R W fafa § 4 vy 5=

(a) 456 (b} 454 (c) 540 id]
7. The maximum n nts

among whom 1001

pencils can be dis &m n such
a way that each niygets same
number of n:@ e pumber
of pencils, : j

ot # A & fam 4
1001 et = 79 75 =i
E R F TR N § FAR
o FE wEy T Jiae w g &

(@) 91 (b} 910 (c) 1001 (d) 1911

8. Four bells ring at intervals of 4, 6,
8 and 14 seconds. They start ring-
ing simultaneously at 12.00 O’
clock. At what time will they again
ring simuitaneously ?

=]

LCM & HCF

7/////.7///}7///’/////I////////I///////Af)7//[/////)'////}‘///17//////////7//////////////////////////////////////f/////'//////l7////////77/////////////.V////'I/////////-(/////////////I////////]////I////?//////A//////////I////IJV/////////A

TR AT 4, 6, 8 7MW 14 HIE F NaE
W Aol 12 ¥ T AT a9 IR
Ft 2, 9 [ fr 7 S o e 9shh 2
(a) 12 hrs. 2 min. 48 sec

(b) 12 hrs. 3 min.

{c) 12 hrs. 3 min. 20 sec

{d} 12 hrs. 3 min. 44 sec

9.  The product of the LCM and HCF

of two numbers is 24, The differ-
ence of the two numbers is 2. Find
the numbers ?

T T F A, T 0. T DA 24
#1391 vt # @ w2 & @ gend
T FE |

(a} 8 and 6
(c) 2 and 4

(b) 8 and 10
(d) 6 and 4

10. The LCM of two numbers is 495 and“‘

their HCF is 5. If the sum of the
numbers is 100, then their differ-
ence is : -
J HE T WA, 495 3] WA, 5%m&3%
wES F A 100 7, A T SR o g
(@ 10 (M) 46 (o) 70 (dYBa

11. Two numbers, both greater thatk 29,
have HCF 29 and’ LCHQ,4147 The

sumn of the numbers
29#3@#@@&! 29ma=a

4147 ¥, 9 37 Heay 4 )
(a) 966 , E tﬂ 696
o) 669 &, 1 * "m) 666

% : 2000

L CY; of two numbers is 8.
. e of the following can
g e their LCM ?
5 # W g%, A T B WA
1 7.9 T 5 www 22
[a) 24 (b) 48 [c) 56 (d) 60
The LCM and the HCF of the num-
J bers 28 and 42 are in the ratio :
% HEml 28 71 42 B AN, 990G, F
AT 1 Fm?
@6:1(0)2:3 (c}3:2(d) 7 : 2
Year : 2002

14, The LCM of two numbers is 1820
and their HCF is 26. If one number
is 130 then the other number is:
T HEmS W WA 1820 ¥ UH. 26 %
R T e 130 #,  3ud v w3
{a) 70 (b} 1690
(c} 364 (d) 1264

15. The LCM of two numbers is 1920
and their HCF is 16. If one of the
number is 128, find the other number:
2 wiemsd 7 wE. 1920 ¢ 7 AW, 16 41
#fe @ wem 128 &, W g5 wem aw w
(a) 204 {b) 240
() 260 {d) 320
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16. The HCF of two number 12906 and
14818 is 478. Their LCM is :

T Wt 129006 AR 14818 %1 U4, 478

£ @ w8 9 5
{a) 400086 (b} 200043
{c) 600129 {d) 800172

17. Find the greatest number of five
digits which when divided by 3, 5,
8, 12 leaves 2{fhs remainder

I am‘a# T g wE foaad
3,5 ¢1 W 2 9N g f
(a) 9By {b) 99948
{¢) 99962 7 (d) 99722

18. The leasgafiultiple of 13, which on

difiding by 4, 5,

% nder 2 in each case is
5,13 w% =m TR 7 & T4, 5, 6,7
4 Wit 89 a2 R e g I AT ¥
“wda) 2520 (b) 842

(c) 2522 (d) 840

Find the largest number of four
digits such that on dividing by 15,
18, 21 and 24 the remainders are
11, 14, 17 and 20 respectively,
=T 3H B G e TR

15, 18, 21 T 24 § s 33 W HHW:
11, 14, 17 @0 20 9y ==a1 &

{a) 6557 {b) 7556

ic) 5675 id) 7664

20. 4 bells ring at intervals of 30 min-

6, 7 and 8 leaves

|
utes, 1 hour, 15 hour and 1 hour

45 minutes respectively. All the
bells ring simultaneously at 12 noon.
They will again ring simultaneously at:

. 1 .,

4 =il w99 30 fire, 1 5, 15 wagan
190 45 fFe & ofmae w awt &) it
il O w12 9 e d w9, @ R
: ©F W% F9 901 ?

(@) 12 mid night (b} 3 a.m.
c) 6 a.m. 49 p.m.

21. Four bells ring at the intervals of
5, 6, 8 and 9 seconds. All the bells
ring simultaneously at some time.
They will again ring simultaneously
after :

R Wi 5, 6, 8 AT 0 Yeivx F FerR
et &1 it Wit fadt wra o W s
£ A . v Wy e w9 Fonm 2
{a} & minutes (b} 12 minutes
(e} 18 minutes {d) 24 minutes

22. The greatest number, which when
divides 989 and 1327 leave remain-
ders 5 and 7 respectively:

% stfewan Wem T fore 989 AW 1327
T 901 3 W FH: 579 7 H =A@ R 2

{a) 8 (b 16

ic) 24 id) 32




23. A milkman has 75 litres milk in
one cane and 435 litres in another.
The maximum capacity of container
which can measure milk of either
container exact number

TE AR P IR CF A 757 g9
T T B ¥ 45 ot 0 B WS U
Hfispas aom BN, S A A S gy

JE Al N = ?
(a) 1 litre {b) 5 litres
{c} 15 litres {d} 25 litres

24, Two numbers are in the ratio 3 : 4.
H their HCF is 4, then their LCM is
T wE 314 % oA § B afs 37 A
W, 4 %, 9 s AW F| w0
(a) 48 (b) 42 (c} 36 (d} 24

25. Find the least multiple of 23, which
when divided by 18, 21 and 24
leaves the remainder 7, 10 and 13
respectively.
23 %1 =FE P I W, f59d 18, 21
9T 24 % U W FH: 7, 10 740 13

RLEET

(a) 3013 (b) 3024

(c) 3002 (d 3036
Year : 2003

26. The HCF of two numbers is 16 and
their LCM is 160. If one of the
number is 32, then the other num-
ber is :

% @ ‘emal | A 16 9491 9F. 160 71
7 ©F HWem 32 7, 9 TH W 7 F
fa) 48 (b) 80 {c) 96 (d) 112

27. The product of two number is 4107,
If the HCF of the numbers is 37,
the greater number is : :

% TSN W PR 4107 #1 A THR
na 37 A e sEm T ¥ ?
{a) 185 (bj 111 (c) 107 (d) 101

28. The least perfect square, which is
divisible by each of 21, 36 and 66 is:
El%ﬂfmaﬁw%a’lzl 367766 1

ey

 yofa: Prfm 22
{a) 214344 {b) 214434
{c) 213444 (d) 231444

29. The least number, whigh when

divided by 4, 5 and 6. lea
der 1, 2 and 3 respegtise

{cTe1™ () 63
m%é of six digits
jvited by 4, 6, 10,

h case same re-
. The sum of digits

@ 57 (b
30. Let the lea

which ghe
15 leah
mainder

in N is: h‘i_,:
A form e ff 6 ¥l 9% = S
N# faad 4 6,10 TA 15§ 9m =4 o
wers fefa § 2 v w90 A N 5 R
¥eRl 1 =y Tm w2

(a3 (b} 5 (c) 4

1

d 6

31. Which is the least number which 38,

when doubled will be exactly divis-
ible by 12, 18, 21 and 30 ?
T AN T T S A W
12, 18,21 M 30 % uia: fsifoa & okt 22
(a) 2520 (b} 1260
{c) 630 (d) 196

32. The smallest square number divis-
ible by 10, 16 and 24 is:
IF I a1 dem ¥ | 10,16 a0
24 | qola: fywifa 2
{a) 900 {b) 1600
{c) 2500 (d) 3600

33. From a puint on a circular track 5

km long A, B and C started run-
ning in the same direction at the

1
same time with speed of 25 km

per hour, 3 km per hour and 2 km
per hour respectively. Then on the
starting point all three will meet

again after .\ '

5 fife Hie T T I T FHER 99 WA, “*‘
BaOC wH=FR I w A RmA, qm;%

\ .
¥ TmE wh: 25 kmph, Skmp
% 41,

2 kmph 9 =2 = mfg |

A o fig W R g

firei?

(a) 30 hours ‘\?Ms
{¢) 10 hours hours

34. ber of square
the floor of a

it long and 9 m 2

0 o auT o T 2 Ho e 42.

84y (b} 841
§ie ratio of the two numbers is 2
: 3 and their LCM is 54, then the
sum of the two number is:
T = wEmel F oE 2 ; 3 ¥ v T
0 [0 54 T A TEAd AW F2
@5 15 (o) 45
36. The ratio of two numbers is 4 : 5 and
their LCM is 120. The numbers are
3 WEmsH W I 4 ¢ S5 &M B T
w0 120 ¥4 et 7
{a) 30, 40 (b) 40, 32
{c} 24, 30 {d) 36, 20

(c) 820 (d) 814

37. Three numbers which are coprime 44,

to one another are such that the

product of the first two is 551 and
that of the last two is 1073. The
sum of the three numbers is :

i dend s o TR ¥ T vt
¥ TEell T Y@ H EGA 551 a4
st R demsd = e 1073 85 9
wEmsi = A | F

fa) 75 (b} 81 (c) 85 (d) 89
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39.

40.

(d) 270 43.

HCF and LCM of two numbers are
7 and 140 respectively. If the num-
bers are between 20 and 45, the sum
of the numbers is:

3 Wemstl F [0 WO T WO [ HHA: 7 A

140 %1 9% Wead 20qw 45 & A= §

. denl = 3 w2
(a) 70 {b) 77
{c) 63 (d) 56

Year : 2004

The HCF of two numbers is 15 and
their LCM is 300. If one of the num-
ber is 60, the other is:

3 TR T 0 P T T S B 15

300% 0 T T
@S¢ (b) 75

(o) 65% % @ 100

The HCF offtwo numbers is 23 and

¥two factors of their LCM
ei1l3 and 14. The larger of the

t umbers is :

A T W W 23 A9 T 0 W

%ﬂ?mﬁmlswmi & =

wematt 4 4 =<t wom w2
{a) 276 {b) 299
(c) 345 d) 322

If the students of a class can be
grouped exactly into 6 or 8 or 10,
then the minimum number of
students in the class must be.

M FM BB RMOABTIOF
wEl W dla W A Fa § e e
o8 74

{a} 60 by 120

(c) 180 (d) 240

The least number which when
divided by 4, 6, 8 and 9 leave zero
remainder in each case and when di-
vided by 13 leaves a remainder of 7 is:
9¥ H GEA 9 & faei 4 6 89w
¥ qm 3 W v ol o 3 I g &

3R 13 ] WM 33 |7 W9 T4 27

{a) 144 (b} 72

{c) 36 (d} 85

The number nearest to 10000,
which is exactly divisible by each
of 3,4, 5, 6 7 and 8, is :

10,000 3 T¥Fzan a8 H&0 W 2 3 4
, 5,6, 7049189 yuia; femisa w?

(al 9240 (b} 10080

(c) 9996 (d} 10000

Let N be the greatest number that
will divide 1305, 4665 and 6905
leaving the same remainder in each
case. Then, sum of the digits in N is:

AR T Wi i N 92 Sfise 9o R
1305 , 4665 T 6305 Ht AN T W
e Feerfer & s 9 e RAIN S B
SiH =1 9m A F2
(a) 4
€6

(b} 5
@ 8




43,

46.

47,
48,

49.

50.

51.

=

The sum of two numbers is 36 and
their HCFis 4. How many pairs of
such number are posible?
5t Hemstl F 9 36 ¢ FM I W W4
7 ™ W % dens 3 wwfm St B
wen 7y whi?
(a1 (b2 €3 (4
The greatest number, that divides
122 and 243 leaving respectively 2
and 3 as remainders is:
€ AT WS T W EE 122 qe
243 M 33 | HAY: 2 79 3 99 941 37
(@) 12 (b) 24
{c} 30 {4} 120

Year : 20058
The HCF and LCM of two 2-digit
number are 16 and 480 respec-
tively. The numbers are :
VAR AT F R T A
FH: 16 391 480 R 4 dEd W w2
(a) 40, 48 (b) 60, 72
{c) 64, 80 (d} 80, 96
The smallest number, which when
divided by 12 and 16 leaves remain-
der 5 and 9 respectively, is :
5 =em uem @ # i 12 A 16 9
P11 W FHA: 5 T 9 9 = £?
(a} 55 fh) 41
{c) 39 (d) 29
A number which when divided by
10 leaves a remainder of 9, when
divided by @ leaves a remainder of
8, and when divided by 8 leaves a
remainder of 7, is :
T S ¥ W9 10 9 e o wmew €, @ o
Yiw T=w &, T o Q W fm w2, A8
e T & dRs § ym e W #, \ 7 9w
w2, A e g =)
(ay 1539 (b) 539
(c) 359 (d) 1359
What is the smallest number which

leaves remainder 3 when divideg A

by any of the numbers 5, 6 or 8ib
leaves no remainder when it
divided by 9 ?

% A e 7 # faai s e afa
At Fem ¥ W 3 w3 H’vﬁéﬁﬂg
W 9 W HE vy

(@) 123 Xl
Ie s ber which

[c}) 723
number 3, S,
€s in each case

L10TM 12T WM 3 | e foufa § o
9 Fom & AT 229 um [ | FE 9y
i Fua?
{a) 312

fc) 1562

(b) 242
{d) 1586

52.

What is the greatest number that
will divide 307 and 330 leaving
remainder 3 and 7 respectively ?
=% A de @ o 307 am 330 |
Pronform #3793 oI 7 Sy = 37

@19 (b}16 (o) 17 (d) 23

53. The sum of the HCF and LCM of

54,

two number is 680 and the LCM is
84 times the HCF. If one of the
number is 56, the other is;

T WSS B e W AU T o F W 680
B3R T T, Bo B 84 W ¥ AR
T 56 2,8 el e Jra

@8 m12 (g8 (d 96

The LCM of two numbers is 20
times their HCF. The sum of HCF
and LCM is 2520. If one of the num-
ber 480, the other number is :

3 WA FI T Fo TTH We Fe F 20 0N
2, % B W IW F T T AN 2520 §
It Tw W& 480 &, T wem | w17

(a) 400 {b) 480
{c) 520 (d) 600
Year : 2006

55. The largest 4-digit number e

56. Which greates

57.

\

[}
1

27 is:
4mﬂ%mﬁmm%a’r

12,15, 1:5;?!211271&;,i ﬁmﬁqi?
{a) 9690 (b
{c) 9930 g(ﬂ]

mr will divide

3026 and 30 edwing remainders
11 and"33¥e tvely?

e Afuragdegy) ¥ ? fwd 3026 90
5053 T Ryl T3 W FOD: 11 70 13
T 2P

ta; 19, B30 @17 @5

T"I!e greatest number, by which 1657
an# 2037 are divided to give remain-
ders 6 and 5 respectively, is :

aF Afuwen d= T 2 fouw 1657 90

J 2037 T fuTied w1 T 99 6 491 5 79

T 27

(a) 127 {b} 133

tc) 235 (d} 305
Year : 2007

58. The product of two numbers is 1280

59.

and their HCF is 8. The LCM of
the number will be:

T TR 1 A% 1280 # 1 W0 WO 8
# 6t 37 Femati w1 w0 Wo FW FM?

(a) 160 (b) 150 (&) 120 (d) 140
The least multiple of 7, which
leaves the remainder 4, when di-
vided by any of 6, 9, 15 and 18, is
7 T E ¥ femi s, 9, 15
TN 18 | WM ¥ W 4 Wy F=ar 27

(a} 76 {b) 94

(c} 184 td) 364

60.

61.

62.

64.

65.

66.
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The largest number of five digits
which, when divided by 16, 24, 30,
or 36 leaves the same remainder 10
in each case, is:

ufe i = wfugem wen 3 i e,
24, 30 W36/ AWM =X W ToE fefy
10 99 == 21

{a) 99279 (b) 99370

(¢} 99269 (d) 99350

The least number, which is a
perfect square and is divisible by each
of the numbers 16, 20 and 24 is

T8 <9 @ wem ;| &5 16, 20 a0
24vaF A fa 22

(@) 1600 » . (b) 3600

(©) 6408 \ @ 14300

The X nearest to 43582

divisible ch of 25, 50 and 75 is:
43582 ® T T w;wEE 25,
1 75 T A A #)
; &500 (b) 43650

43600 id) 43550

3%%¢J|‘hree sets of English, Mathemat-

divisible by each of 12, 15, 18 h ;

ics and Science books containing
336, 240, 96 books respectively
have to be stacked in such a way
that all the books are stored sub-
ject-wise and the height of each
stack is the same, Total number of
stacks will be:

¥t oo w1 foram < feae & AT o
FHA: 336, 240 T 96 FFa ¥ 39 fraw
+ M aE 4 2R ¥ w1 e |2
w B¢ TR * ik vt frae v @
o @t T, /@ DR ) gen wa w5

(@) 14 ()21 (¢} 22 (d) 48

Three numbers are in the ratio 2 : 3 ;

4. K their LCM is 240, the smaller
of the three numbers is
Adem2: 3 4R g d I R
W 2402, 8 A T ¥ B e T ¥
{a) 40 (b) 60 () 30 (d) 80
The sum of two numbers is 45.
1
Their difference is 9 of their sum.
Their LCM is

& gEmsl #1945 B T AR A w

é B T Ao T F@ F
(a) 200 (b) 250
{c) 100 {d 150

The HCF of two numbers, each hav-
ing three digits, is 17 and their LCM
is 714. The sum of the numbers
will be :

9 ot 3t <t gEme W 5 W 17 # s
T W 714 %8 HEanRd w1 9 =@ @

{a) 289 (b) 391

(c) 221 (@ 731




67.

68.

69.

70.

71.

72,

73.

74.

=]

Year : 2008
The HCF and product of two num-
bers are 15 and 6300 respectively.
The number of possible pairs of the
numbers is
= HEH F Yo W T UATS FHM:15 TN
6300 &, T WE ¥ Tl % fre wwifaa
g o T 27
a4 (b3 2 (41
The smallest number, which when
divided by 5, 10, 12 and 135, leaves
remainder 2 in each case, but when
divided by 7 leaves no remainder, is:
=& =W e 2, fE 5,10 127
15H M N W ET fefi Yo fma=a #
Al 7 5 9 3 T e IS A w2
{a) 189 (b} 182 {c) 175 (d) 91
What least number must be
subtracted from 1936 so that the
resulting number when divided by
9, 10 and 15 will leave in each case
the same remainder 77
1936 ¥ ¥ @8 WA-W =Faw wem e
MY % W SEm §9,10 F01 15 W 9 3
W Yo iy § 7 e 1=
fa] 37 (b} 36 (c) 39 (d) 30
The least number, which when
divided by 18, 27 and 36 separately
leaves remainders 5, 14, 23 respec-
tively, is
e =7ad e 0 3, R 18, 27 A
360 WM W W FAM: 5, 14 TW23 AN
T ¥
{a) 95 (b) 113 {c] 149 (d) 77
The smallest number, which when
increased by 5 is divisible by each
of 24, 32, 36 and 64, is
T AW de F faed 5 g W o

TEN24, 32, 36 AU 64 TF ¥ i 9d 12

{a) 869 {b) 859
c) 571 dy 427

Two numbers are in the ratio 3 : 4.
If their LCM is 240, the smalle
the two number is : §
2 gemi3: 4% wyaa A €, ﬂﬁm
[0 240 ¥, @ W S T TE
{a} 100 (b} 80 (¢} 60 (d

The product of theglCh
HCF of two nurmnbers i

b

the
Wi wtte dif-
ference of the o N isw2, then
the greater of the nm¥mba
= wEsl ® g W o & TR
’ .
? : L

2% AdIWA

their HCF ¥ 27.
of such numbers are there ?

F gemet = M 216 2 &t T T B
27 31 A TE W e F Fea wvifaa
w2 = g 37

How many pairs

@l M2 ©3 do

75.

76

77.

78,

79.

81.

az.
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The LCM of two numbers is 12
times their HCF. The sum of the 83,
HCF and the LCM is 403. If one of

the number is 93, then the other
number is :

T HEnsT H T W ITB T To H 12 T

?1 T W T T T F G403 31 A

T 9 93 #, W ol g e W

Year : 2010

The HCF and LCM of two numbers
are 8 and 48 respectively. If one of
the number is 24, then the other
number is:

7 HEMA T o To § To o FUMR TAT48
&, o o dem24 3, A gl dem ww w0
(a} 48 (b) 36 (c} 24 (d) 16

84, The HCF and LCM of two numbers

(a) 124 {b) 128 !
(c) 134 id) 38 are 12 and 336 respectively. If one
of the number is 84, the other is ;

Year : 2009 % YAl & W G o T T HAT: 12 AN

336 %, % ©F wEm 84 2, A T Hem
A F?
{a) 36 (b) 48, Bic) 72 (d) 96

The product of two numbers is
20736 and their HCF is 54. Find
their LCM.

= g F A 207369 TFR HF 85, The progqfk ¢ numbers is 216.
54 # 6 T FA FE I the HMECF: then their LCM is
(a) 685 (b) 468 () 648 (d) 384 3 vy 3%*5‘215““" t, ot s
The greatest number of four digits T He 6 F ﬂ)‘ Y= Ho FRKT L2

which when divided by 12, 16, and @ 72 (b0 ) 48 (d) 36

The\HCF and LCM of two numbers
3. 18 and 378 respectively. If one

% f tie number is 54, then the other
Wber is :

Mm&ff%mmaa« T I 18 FN

24 leave remainders 2, 6 and 14 86.
respectively is :

R & w TE e TEn =
fowd 12, 167w 24 & qm%'—‘rmm

2,694 14 Ty g &2

‘g 378 %, 9% wF Wew 54 2, @ WA wEw
(a) 9974 {b) 9970 ’%ﬂ D
{c] 9807 (d) 9998 (a} 126 (b} 144 (c) 198 (d) 238

The greatest number, which when
subtracted from 35834, gives a
is number exactly divisible by each of
20, 28, 32 and 35, is
a7 wfirwan wem w1 2 TR 5834 F
M W W WEW 28 , 28 , 32 FM 35
TR @ Yofa: fanfor 2
{a) 1120 (b) 4714
(¢} 5200 {d) 3600
88. The smallest perfect square divis-
ible by each of 6, 12 and 18 is :
o5 =pan o = wem wn ¥, W6, 129
18 7% B fasfom &2
(a) 196 {b) 144 ({c) 108 {d) 36
Two numbers are in the ratio 3 : 4.
Their LCM is 84. The greater number is:
) et 3 : 4 % A § 2, 6 @ W
84, AT AT = w2
(@) 21 (b) 24 {c) 28 (d} 84
The sum of two numbers is 84 and
their HCF is 12. Total number of
such pairs of number is
3 wEmsl T A 84 § AN I G T 12
2 @ W P gEwe 3 AP B oF@
W w7
a2 (b3 fcgd (A} 5
91. The sum of two numbers is 36 and
their HCF and LCM are 3 and 105
respectively. The sum of the re-
ciprocals of two numbers:
T wemsh w1 A 36 #, IR W W qql

o We FHAY: 3TN 105 ¥, Al I SgEAl

When a number is dwrde%v 87.
20 or 35, each time the remBggder

is 8. Then the smy % llegt num

@ T dem 615, 201 { R

T R, e R SR
AAH T 2

{a) 428 (b) 427 Kc)"828 (d) 338
the ratio 3 : 4.
itheir HCF and LCM

%, 0 9%

TN I 2028 2, @ el
| 2 89.
b) 72 (c} 86 (d) 91

(a) 68
Sum of two numbers is 384, HCF

of the numbers is 48. The differ-

ence of the numbers is

W el FAMIG4E AW T K B g

48 %, 9t Hena w1 ia w=w 87

(2) 100 (b) 192

(c) 288 (d) 336

The LCM of two multiples of 12 is
1056. If one of the number is 132,
the other number is

12F B T W @ T 1056 2, I T
e 132 £, | ud gem w0

(&) 12 by 72

(e) 96 (d) 132

The product of two numbers is 396
x576 and their LCM is 6336. Find
their HCF

T TR H IPREA 396 X576 T SR 1 m 32
o T 6336 Tt W W W T B 2 3 4 2
@) 36 (b) 34 (¢} 63 (d) 43 @} 35 ™35 35 @ 53




92,

93.

94.

95.

96,

97.

98.

99,

=1

The LCM of two numbers is 44
times of their HCF. The sum of the
LCM and HCF is 1125. If one num-
ber is 25, then the other number is:
3 TS F Fo W TAH We Te F44 T
2, T To T TN W T F W 11258,

o ok wem 25 ¥ @ Ted wew g w
(a) 1100 (b) 975
{) 900 {d) 800

Year : 2011

The HCF and LCM of two numbers
are 12 and 924 respectively. Then the
number of such pairs is :

% FEmA F1 % W I T He FHW: 12
924 %, & W W ¥ weweh B
wfam i 2

@0 (1 092 (&3

The LCM of two numbers is 520 and
their HCF is 4. If one of the num-
ber is 52, then the other number is
= T I e T T T To FAW: 520 T 4
¥, 9k o wen 52 3, 7 ge wen v w1
{a) 40 B) 42 () 50 (d) 52

The HCF of two numbers is 96 and
their LCM is 1296. If one of the num-
ber is 864, the other is

% = W T W96 2 T I W W
1296 ¥, 3% T% Hewm 864 &, A THA
HEW AW w7

{a) 132 {b) 135

(c) 140 d) 144

The LCM of two numbers is 4 times
their HCF. The sum of LCM and
HCF is 125. If one of the number
is 100, then the other number is
A FEn F Ao B IR B o T4 L,
T T T A W T F1 A 1258, 7% W
TSN 100 B, @ Tt we

@5 (b} 23  -{c) 100 (d) 125

The product of two numbers is 2028
and their HCF is 13. The number
of such pair is

q veml B ERR028 € 9 % W 1)
o 9 I H Tl F e SR |
al (b2 ©3 4 4
The LCM of three different nu
bers is 120. Which of the;follow,
ing cannot be their HCF

T TS wemsiAY M T 0 1202,
‘ﬁ.ﬁm?

A 7 A B s W
(a) 8 A
(c) 24 s ol

The least ¥ b which when

divided by X and 25 leaves
4 as ' X in each case but
when divgd 7 leaves no remain-
der is:

¥ AT w1 2, fd 16, 18, 20
AM25 ] 9 P R w=w ol ¥ 2 v
T &, IfF 7 @ w1 A W W Oy
T 2

{a) 17004
(c} 18002

(b) 18000
(d) 18004

100.

101.

102,

The traffic lights at three different
road crossings change after 24
seconds, 36 seconds and 54
seconds respectively. If they all
change simultaneously at 10 : 15 : 00
AM, then at what time will they
again change simultaneously ?

d srom-aem SR B Jew wrd F9W;
24 , 36 U1 54 0L F A T T
t,alk 3 9f v WU 10: 15AM R
e, & A SR AR F9 wxeit?

{a) 10 : 16 : 54 AM

{b) 10 : 18 : 36 AM

€) 10 : 17 : 02 AM

() 10 : 22 : 12 AM

6

X 35
Find the HCF of 1% and 7

T HoWe T H

Bl
~3 o

Eam
'6

5
@ 74
I 1

&} =3 «
63 168 gy

Four runners started rumﬁné&

simultaneously from a point priyg
circular track. They te 200
seconds, 300 seconds, 360 sec8nds
and 450 seconds’ plete Dne
round. After how mu do they
meet at the starﬂi’rg mmt for the
first time ? “ﬂ‘“\, ’

e f) rm = et fag @
= mﬁﬂ bR QU A &
‘300 s, 360 THvg
P2, W e TR R "

e

¢mggﬁﬂ%ﬁmﬁ€ﬁ

104.

u(Qj -18QO seconds {b) 3600 seconds
{c},2400 seconds (d) 4800 seconds

. Thtee bells ring simultaneously at

11 am. They ring at regular intervals
of 20 minutes, 30 minutes, 40
minutes respectively. The time
when all the three ring together
next is ;

7 ol 11 am 9 wF 99 T 2, 4
wA: 20 e, 30 foe aw, 40 fire B
i siwe W e &, @ 4 ovRll ar v
| T A2

(a) 2 p.m. by 1 p.m.

¢} 1.15 p.m. {d) 1.30 p.m.

A farmer has 945 cows and 2475
sheep. He farms them into flocks,
keeping cows and sheep separate
and having the same number of
animals in each flock. If these
flocks are as large as possible, then
the maximum number of animals in
each flock and total number of
flocks required for the purpose are
respectively

105,

106.

‘%s‘

108.

109.

110.
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TF fFM % T 945 W aam 2475 92 ¥,
T TF g3l °§ T 7% diew & B ww g
H e o A AR a2 swe- sem
#, aft 3 yz fow 991 ot W & 5o T
?, A TF g3 A oo wy ¥ oo gE @
e e 32

(@} 15 and 228 (b} 9 and 380

(c) 45 and 76  (d} 46 and 75
The greatest 4-digit number exactly
divisible by 10, 15, 20 is

4 FiF Ft oAfuman TEW R 10, 15 W
20 ¥ yuka: fife gt /37

(a) 9990 (b} 9960
{c} 9980 , {d) 9995
The grnt mber that divides
411, dhd leaves 3, 4 and

5 as » respectively, is
7 & e 411, 684,
amﬁqm REHAS, 470 53 T &2
by 146 {c) 136 (d} 204
he atic of two numbers is 3 : 4
their HCF is 5. Their LCM is;

k%mﬁmms 4% AN T B B

5%, @ @ W T B

@ 10 (b) 60 (g) 15 (d) 12

It A and B are the HCF and LCM
respectively of two algebratic ex-
pressions xand y, and A+ B=x + y,
then the value of A* + B3 is

=i simffita = x 3y T e W T Fe
T FAM AN B R, 9 A+B = ey 71, A
AS+BPSR W AW 72

(a} -3 (b) »®*

(e} ¥ d x +

The HCF and LCM of two numbers
are 44 and 264 respectively. If the
first number is divided by 2, the quo-
tient is 44. The other number is:
T HES & He T iR o o T 44 AW
264 &4t vEelt gem § 2} W fen =
2, o WTHd 44 2, 9 T wew wA w2
(@) 147 {b) 528 () 132 (d) 264
Three men step off together from
the same spot. Their steps
measure 63 cm, 70 cm and 77 ¢m
repectively. The minimum distance
each should cover so that all can cover
the distance in complete steps is
i =fm o € fig 9 & Wy swm oy
w4 ¥R Tl F A 63 W e
70 R do 791 77 B i ¥ TAT F F9 @
w0 fFel T 93wl w2 afe gt g
T A o % e
{a) 9630 cm

{c) 6930 cm

{b) 9360 cm
(d) 6950 cm

- Find the greatest number which

will exactly divide 200 and 320.
e A T2 9w N 200790 320
F yuia: fyafsm = 22

(a) 10 {b) 20

(c) 16 (d) 40




112. 84 Maths books, 90 Physics books
and 120 Chemistry books have to
be stacked topicwise. How many
books will be their in each stack so
that each stack will have the same
height too?

84 @, 90 if= @ 120 WEA &

frardl =t farER % @ =9 9 s
2o = ¥ fE 5w s g
TH B TR T A2 119.
@12 18 (6 (d 21
113, The greatest number that will
divide 729 and 901 leaving remainders
9 and 5 respectively is
7 sfuwan den = ¥, fwd 720 oo
901 # WM 3 W FAW: 9 AMS5 Y =Y
fa) 15 (b) 16 (¢) 19 (d) 20
114. Three numbers are in the ratio
1:2: 3 and their HCF is 12. The
numbers are
M uen]:2:3F e &, T w120
12 %, 9 gemd T w0
(a) 12, 24, 36  (b) 5, 10, 15
(c} 4, 8, 12 ) 10, 20, 30
115. If x : y be the ratio of two whole
numbers and z be their HCF, then
the LCM of those two number is :
ﬂﬁﬁ*{ﬁmsﬁzm ﬂﬂqﬁx:yiw 121.
IAH T To z ¥, W TTH T Wo T FM?
Xz
@ yz (b ?
© (@ xyz
116. W the HCF and LCM of two consecutive
{positive] even numbers be 2 and
84 respectively, then the sum of the
numbers is:
T AR ARG T HEI W e T Al
T To THU: 2 AN 84 &, W WA F 9m
Eck ¥
{a) 30 ()26 (g 14 (d) 34 !
117. P = 22395 ; Q = 2537, t m
HCF of P and Q is: : % A
o p=2.305:Q =23 AP T
w91 Q I Wo To [ F £
(a) 2.3.5.7 (b) 3.2% %
(¢} 22.37 (%gsga';ﬂ
LY
118,

nume e denominator, it

A fraction becomel 6%;.%%11 4 is
subtracted from 8 n¥nerator and
1 is added ith d&gominator. If 2
and | are iyely added to its

becomes 2. Then, the LCM of the

numerator and denominator of the
said fraction, must be

S s W 94 eR R T | S
wﬁr-!% B R ) 2 T M am W

123.

Twem 2ot 1 IR A = % A

W 21 f ST T W AW, FE

(8] 14 (b} 350
(c} & {d} 70
Year : 2012
po2 .6
HCF of 3' 5 and 7 is
2 4 6
g,gﬁh?ﬂﬂﬂ.ﬂ.WM?
48 o 2
@ 305 (o} o5
e a2
© Jos5 D 705

{FC1 Asait. Grade II1 05/02/2012 (paper I
What is the greatest number which
will divide 110 and 128 leaving a
remainder 2 in each case?

9% Afumad o= 7= f5ms 1108 198 -

W 9 A R A R o v @ R 2 o
. 187,

@8 (b)18 (o) 28 (d) 38

124,

125.

126.

(FCI Aasit. Grade 111 05/02/2012 (paper . . E

A milk vendor has 21 litres &f cow
milk, 42 litres of toned ‘an
63 litres of double toned milk.™# he
wants to pack themtinsgans so that
each can contains ‘#amtg litrés of
milk and does nofw t6 mix any
two kinds of milk tmea ., then the
least number of tans fequired is:
FRETL25 W 21 = T w1 3y, 42

g g 0 YR 4 w0 TR 8
RS WRT TR A F 3y 6 ek 3
%3 W o 3 e e

A B A e AW
b6 (9 (d) 12
(S8C Const. (GD} {IInd sitting)

()8

. The LCM of two positive integers is

twice the larger number. The dif-
ference of the smaller number and
the GCD of the two numbers is 4.
The smaller number is:

Z A Y H WY 98 Wen R
T #1 B wEm d AW F AR 4L, A
et W I

@12 6 ()8 (d) 10
SBCDEO & LDC 21/10/2012 (Iind sitting)
The HCF {(GCD) of a, bis 12, a, b
are positive integers and a > b >
12. The smallest values of {a, b)
are respectively

a, b, ¥ WA 122 a4 a 3R b R

iF &l a>b>12 7, @ (a, b) F AW MT
T 7 ?

(a) 12, 24 (b) 24, 12
{c} 24, 36 (d) 36, 24
85C CGL TIER 1 Exam

129.

130.
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Year : 2013
Product of two co-prime numbers
is 117. Then their LCM is
T HRAG Tl 1 oEwe 117 2, dt
I @4, TH H)
& 11719 () 13 (d) 39
88C CAPF & CISF ASI Exam 23/06/2013
The product of two numbers is 2160

and their HCF is 12. Number of
such possibile pairs are

= Al w1 TeAEe 2160 2 3R 59 A
q 12% @ W a® B wEn ® fF
Harfaa W2 wh?

@1 M2 23 @4
ﬁSP Al CISF ABI 23/06/2013
7 Neart: 2014

“""_réli.lmbers is 2079 and
their HCF ig 27. If one of the num-
ber- is 185, the other number is :

§.wemadl 1 9.8, 2079 # 3W I U

27 ¥ ARk T wew 189 ¥, A g wew

A .

{a) 297 (b) 584 (c) 189 [d) 216
Five bells begin to toll together and
toll respectively at intervals of 6,
7, 8, 9 and 12 seconds. After how
many seconds will they toll
together again ?

uia sfedl T W a9 ® 9 A w6,
7,8, 9UN 12 9BV & @ W w9
$, 7 Fred A2 B 9= A T WA T 2

(a) 72 sec. ib} 612 sec.
ic) 504 sec. {d} 318 sec.
(285
. LCM o 3° 9 6 is
2 4 5
- .= = kR ?
35 ™ Al = T
k3 o 22
(@ 57 ) 3
10 20
3 @ 57

The least number which when
divided by 6,9,12,15,18 leaves the
same rernainder 2 in each case is:
¥ = qem w7 ¢ e 6,9, 12, 15
o 18 € WM 3 W v ffa 9 29w

= B
(a) 180 (b) 176
(c) 182 {d) 178

{88C CGL 16-08-2015, Morning)
The HCF of »® - 1 and x* + 2x® -
2x' -1 is:
x®—1 AT X + 2x% - -1 T WH Fq

2
(a) 2+ 1 (b) x -1
(c) 2 -1 dx+ 1

(88C CGL 16-08-2018, Marning)




131. The greatest number by which 2300
and 3500 are divided leaving the
remainders of 32 and 56 respec-
tively. if
7% afiran wEm v ¥ R 2300 von
3500 # WM 3 W FH: 32 W01 56 WY
TG ?
(@) 168 (b) 42 (o) 48 (d) 136
(CPO 26-06-2015, Evening)
Let x be the smallest number, which
when added to 2000 makes the
resulting number divisible by 12, 16,
18 and 21. The sum of the digits of x is
R W R x T agEm qen 2 R o
2000 § wigr WM, § vfomi sew 12,
16, 18 3R 21 ¥ fawea & Wt 41 3
Sl T q #
@6 (s

132,

© 7S

{CGL Mains 26-06-2015)
Let x be the least number, which
when divided by 5, 6, 7 and 8
leaves a remainder 3 in each case
but when divided by 9 leaves
remainder 0. the sum of digits of x is
T @ x g9 wen, T 5, 6,7 sk s
¥ fawifsa 6 W yadis frrfa § 3 Suea
wa ¢ Wy 0 A fawfa fre W W e
Yrower T e x & S am w22
@24 b2 (© 22 (d) 18

|CGL Mains 26-06-2015)
A number when divided by 361 gives
remainder 47. When the same
number is divided by 19 then find
the remainder?
U e & 99 361 § famfaa frn s,
A dEa 47 wa 2 3k s wem w19
& fawfsm fem wm, @ vwwa from ©m?
@9 1 (8 (43

(CGL Mains 26-06-2015)
The H.C.F and L.C.M of two num-
bers are 21 and 84 respectively. If the
ratio of the two numbers is 1:4, then
the larger of the two numbers is
2 Jems # AEww qwEd® it seam
e w2130k 84 #) ot < wgR

133.

134.

135.

S 143, A R} W T G YD

e e

(a) 48 (b) 12 () 84 (d) 408
) (CGL Mains 2
The LCM of two

rs 1% 12
times their HCF. Th: “6f the
HCF and LCM is . ok of the
number is 93, th§ ther is

136.

2018}

()
(c
{c}
b
(c

11.
12,
13.
14,
15.

@)
(a)
(d)
@)

9 b

L]
d
(a)
{c}
w)

137.

138.

139.

140,

142,

¥ HEns F AYAE GHEEE T HeEn
THrEdE F 12T &) HEE TAEdE 3R
YR THIYES 1 AW 403 ¥ AfE =
F Tew 93 ¢, A TEd gew w4 22
(@) 116 (b} 124 (c) 112 (d} 120
(88C LDC 01-11-2015, Morning)
The number of pair of positive
integers whose sum is 99 and HCF
is 9 is:
YRS ol % T gl S GE (A
A 99 # AR wEwn s o #
@s (b2 c}3 (4
[83C LDC 01-11-2015, Evening)
The ratio of two numbers is 3 : 4
and their LCM is 120. The sum of
numbers is:
A Hesil 71 373 : 4% sh w7 T
wEe 120 #t 39 Fewed w1 am ¢
{8) 70 (b} 35 (c} 140 (d) 105
(ESC LDC 01.11-2015, Evening)
The greatest four digit number
which is exactly divisible by each one
of the numbers 12, 18, 21 and 28.
R AF FI waR wH THw A 12, 18, 21
9 28 ¥ HEaA A gl fave g
(a) 9828 (b) 9882
{c} 9928 (d) 9288
(88C LDC 01.11-2015, E¥an

The smallest five digit N&)er
which is divisible,by 12, 18%nd

21 is: i 1 o

oiT FHH T AT T S 12,

18 3 219 ﬁw::&

{a} 1008 Q)20256

© 102 jdy 50321
06-12.2015, Evening)

.An rs¥etiveen 1000 and 2000
whichi w divided by 30, 36 and
e, I s/ remainder 11 in each

RO AR 2000 # H9 »i¥ W Fewm §
T afE 30, 36 3R 80 & favam firan <y
o v el O ¥w 11 €M
(a} 11523 (b) 1451
() 1641 @ 1712
(88C LDC 20-12-2015, Morning)
The difference between the great-

est and least prime numbers which
are less than 100 is

A 3 YA T Wl W 100D
w9 7, $ W= W aea e

16. (a) 21. (a) 26.
17. g} 22, o) 27.
18, (o 23, (o) 28,
19. (b 24, (a) 29,
20. (4 25, (a) 30.

Q}v

(@) 95 {b) 96
(c) 97 (d) 94
(SSC LDC 20-12-2015, Morning)

143. The number between 4000 and
5000 that is divisible by each of 12,
18, 21 and 32 is

4000 3t 5000 F e W TEW A 12,

18, 21991 32 = fawmy &, frafafmy o

o T #mi
{a) 4203 (b} 4023
(c) 4032 (d) 4302

(86C LDC 20-12-201%5, Morning)
The ratio of HCF of LCM of two
numbers a and b is 1 : 30 and
the differegfte between the
CN{ is 493. Find the
®er of pairs of a

144,

2 demAa AR b F HCF %1 LCM
1: 30 % 3k HCF air
| % ¥t e 493t a s b
1 F1 Tafaa wem Fa ow
(a)One /&  (b) Two/3
(c) Four/am  (d) Five/wi9

(S8SC CPO{Re} 04-06-3016, Morning)

The LCM of four consecutive
numbers is 60. The sum of
the first two numbers is equal
to the fourth number. What is
the sum of four numbers?

W FHEE el W agw aueEe
60 1 Tt 3 TEnsl % g windt Tem
& TR ¥ 9N @l = am e &2
(a) 17 b) 14

{c)21 d) 24

(88C CPO(Re) 08-06-2016, Evening)
If the product of three
consecutive number is 210

then the sum of the smaller
mamber is;

I A7 w o Wemel | e 10
® AR B TR A = m
(a)3 (b) 4

(c}5 (d) 11 .
(S8BC CPO{Re] 07-06-2016, Morning)

145.

146.

(b 3. [ 36. g}
(b} 32, @ g; . {c=
. ic
fc) 33 (0 9. o
(a) 34. (@) 40. (@
(b 35, {o) 50.  (d)

oI
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f ]
51. (b 64. (g 77, {a) 90. b 103. (b 115, (d) 127.  [c) 137. (a)
52. (@ 65. (¢} 78. [ 91. (o} 104. c) 116. (b 128. (b 138. (a)
53. (d) 66, (o) 79. (4} 92. (&) 105. M 117. M) 129. (c) 139. {a)
54. 1) 67. 80. (0 23. 106. () 118. {a} 130. (d | 140. @@
55. (b 63. (b 81. (o) 94, (a)

107. (b 119. () 131. () 141. ()
56. (d} 69, {c} 82. (a) 95, (d) 108. () 120. (b :
57. (& 70.  (a) 83, (a@) 96. (b . ' 1‘ o 132. (o) 142, (a)
58.  f{a) 71, (© 84. () 97. (b 09. @ 121 M 133. () | 143. i)
59.  (d) 72, (o) 85.  (d) 98. (d) 110. {o) 122. 1) 134. @ | 144. (9
60. (b} 73. {0 86. ) 99. () 1L () 123 () 135. (0 | 145. M)
6l. (b 74. (b 87. (b 100. (b) 112. (o) 124, (a) 156

. (b 146. (d)

62. ) 75.  l(a) 88. () 101. (b 113. (b 125. (b
63. {a) 76. (4 89. (¢ 102. {a) 114. f{a) 126. (a)

FREE OF COST

Mipkart.com, amazen.in,
chav.in, snapdceal.com
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1. (cJLCM (¥ W) x HCFU. ) = Ist
number (T&ft H&M) x [Ind number (FE
we)
or

Product of numbers(@@mail %1 oFwe) 5.

= HCF(H W) x LCM(F. 9.)
= LCM = 864
HCF = 144

one number x = 288
~ Let other no. be y (1 Fi 3 &R y Y

xy= LCM x HCF 6.

= 288 =y = 864 x 144
864x144 2
288 - 43
. Other no. will be 432(3 ¥=Mm
432 TNy
2. (¢} LCM = 225
HCF = 5

one number (WE YEM)= 25

. Let other number be yFl F 31
TSy ¥ 7.
L 25xy= 225x5

225x5
¥" 25
. another no. is 45(37 Wem 45 ¥) 8.
3. (o) LCM = 30
HCF = & {given)
One number (Y&eft 9&= 10
Let another number (WFT 1 3773 HeEy)
=y
10y = 30x5
y - 18
4. [ HCF = 13
LCM = 455
- Let numbers be 13x & 13y,
e 13x & 13y}

“LCM = 13xy

-

+» LCM = HCF x Product o% othe
factor (313 TURH HF
13xy-=

o
.

45

i Factors of x, y
) = (35,1), (5,7)
y be ( G WA |
1 x 13 = {455,13)
or
= 5x13, 7x13= (65 91
= But it is given that one number
lies between (75 &125) so.[@FF T f
™ 2 5 ok Wem 75 shias s A g

=]

e e e A s

e o A S

= numbers are {65, 91} and

number between 75 & 125 is 91.

(65, 91) H=d €, (75 afi25 % &=

= "En 91 3

{c} LCM of (4, 6, 8, 12, 16}

=16 %3 = 48

~. The number when divided by (4,

6, 8, 12, 16) leaves remender 2 is

(@ dmm f 4, 6, 8, 12, 16 | Wi =3}

T X IY F94 Bl)= 48 + 2 = 80

(d}LCM of (12, 15, 20, 54)

= 4x3x5x9= 540

. The required number is (#%®
TE) 540 + 4 = 544

= Because when divided by LC

each is divided completely. By
adding 4 in LCM leaves remainder

4, (@ 9 9. w favfm s W
Henst o i frafas & w6 2
Q. ¥ 4 T T W 4 I g=a

E@j

QXQx7X2><2=1683ecmds

48 .
= 25 = 2 minute 48 seconds

Ist they start ringing at 12.00 o
clock(qs?-ﬂméqmm 12 =9 &P
araarhﬂ)
= again they ring all together after
2 minutes 48 seconds at 12 hrs.
2 min. 48 seonds@ [: TF @9 2 fre
® AL 12:2:48 T TR
(d)LCM x HCF = 24
 Product of numbers(¥&man &7

TRE) = 24
Letno. be = x, y
xy= 24

and x-y= 2 (given)
Factors of xy = 24 are (4, 6) (12, 2)
8, 3) 24, 1
= Now difference between numbers
be (GBMAT T 37T = (x-1 = 2
So, factor is(i"FF) 4 , 6)

_’/////7///////’////////I///I/////////II///I//A’///Z/////////'I///I///////////A!7////'I////l///////o_’////////I////ﬂ///df////////////I/////I////I/////////////A’/////fl///f///////////////////.f////////’l///I///l////l?///f////

A R D

10.

11.

12,
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e e

SN NN

i

@LCM = 495
HCF = 5 (given)
> Let numbers are(@FT fF TEamd)
= 5x & Sy
L lCM = S5xy
Sxy= 495
xy= 99
‘. posmb],_p c%apnme factors are
v & j
"*W“gi\_ ‘
poss1b1§m§.mbers are(im wend §
M [45 55]
SY=| s, a95
@w given that sum of
. numbers (& F IR frm war
= 100
s0, required numbers are{3+fe gl
= {45, 55)

. difference of numbers(®@&Ema T
WM = 55-45= 10
by HCF = 29
. Let numbers are(AF N & Heand) 2ox,
29y
LCM = 29xy
=LCM =~ 4147 (given)
= 2%xy = 4147

4147

29 143

xy =

possible co-prime factors(@FHifaa

143
FEHET o) (11 )

. possible numbers are{@F i TN
= (29, 4147), (319, 377)

But both numbers are greater than

29 (@7 2 weand 29 A T {) (given)
. Numbers are (@@ # (319, 377)
", Sum of numbers(W&M HT T

= 319 + 377 = 696
(QJHCF = 8
= Now, LCM should have a factor
8. (3@ AW W T TF 8 €W AqMEY

So, check also the option we have
only 60 which does not have a
factor 8. So, it will never be the LCM.

(219 R wt 36 IS 60 W OV 3 Tf
t, iy 7¢ wun % ® 9Fm




13. (a) Numbers, x=28, y= 42
HCF (28, 42)
= difference = 42 - 28 = 14

= For HCF of any numbers take
their difference. HCF will be either
the facter of that difference or the

difference itself.(fF5t Wt @=m % A%
FfaumraEi R A an ma @
IR F1 IO T A AT R T

Now,
LCM of 28, 42
14x2x3= 84
= LCM HCF
84 14
6 1
14. {c) LCM = 1820
HCF = 26

Ist number = 130
= LCM*HCF = Product of numbers
(S w )
= Let the other number is x
(@ fF 3 TETN « Y
130 = x = 1820 = 26

1820x26
130
(B LCM = 1920
HCF = 16
Ist number = 128
Let lind number (AF1 7 350 &M= x
x> 128 = 1920 =% 16
1920x16

x = 240
{a) HCF = 473
Numbers are =
. LCM x HCF =

x=

15,

240

16.

12906 and 14818

12906 = 14818
LCM x 478 = 12906 % 14818
LCM = 400086

0 LCM 3,5, 8,12} = SKSXSX3=¥‘m

= Now greatesi five digit num%r

is 9gagomla orst =+t arﬂxm it e

99999 #)

on dividing 99999 by = 120 [DCH] we

get remainder- %

(99999 H 120 ® wrmtawﬁm Brm)
99999
- agmcmr mw-n

17.

120 -~

= By suptract;pg ‘Temainder from
99999 we get the greatest five digit
number “wHich is completely
divisible by given numbers {3, 5, 8, 12).
(99999 ® ¥ 99Fa | WA W W ¥ 9"
sf=t ¥ = sftan TEn W gt d, @3,
5, 8 ¥ 12 4 fafea &

L 99999 - 39 = 99960

= Now, we required the greatest

=]

18.

19,

five digit number which when
divided by {3, 3, 8, 12} leaves
remainder 2 in each case.{3® T4 "
i F1 =% sfuwan vem T F6 &) f
3,5 8,128 WM ¥ T v foufy o 2
V9 T )
= add 2 in the 99960 ( 99960 ¥ 2
g W EH Tg HEW WA wh)
= 99960 + 2 = 99962
[c)LCM {4, 5, 6, 7, B)
=4x5x6x 7=2840
= required number{3*fise TEA
= 840k + 2, which is divisible by
13.(9% 13 § fawfim &

840Kk + 2
T 13

20.

21.

, iremainder = 0)

22.
8lk+2
13

Remainder =

Put k= 3
Than, remainder = 0 o, g
for least multiple value of k is <%
minimum (FFAH 0 Tﬁﬁﬂlkﬂ:‘lﬂﬁh
e

=840 * 3 + 2 _
= 2500 + 2 - 2622

_ 24.
(15, 18, 21“‘“294‘.-;

b) LCM
= 5x3x6=x X 2520
= In such bypg o‘? questions,

we take the d:ffe.reance between
given nunber apd remamder of that

number. @W%Mﬁ%ﬂﬁmﬁ
mwmﬁmaﬁ

Remainder

25.

It will be
same always

[ T |
bbb

Now: Largest 4 digit number is

 9999(WR S T siferF T 9999 %)

= On dividing 9999 by LCM (2520)
we get remainder = 2439(9999
& 1 2520 9 fawfas +w W 2439
PEHA T4 2 )

Subtract remainder from 9999 we
get largest 4 digit number,which is
divisible by given number

= 9999 - 2439 = 7560 (9999 7 @
9FA weH W el 9N AWw H 9% Afuway
wem wa e A @ W demat § i
fasfa &1

But required no. gives difference on
dividing

so,

.. our required number {34 ¥

= 7560 - 4{difference} = 7556

26.
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id) LCM (30, 60, 90, 105)
L 15 x2%x 2% 3x 7= 1260 minutes

1260

60
{they ring simultaneously after every 21
hours (3 W 21 7 B a% TH O T
They ring at 12 noon. So they again
ring at 9 am (3 T % 12:00 29 ¥ o,
mégq:@mgzooa&mﬁﬁﬂ]
QLCM (5, 6,8, 9)=5x6x4dx3

= 360 seconds

= 21 hours

360 .
= %0 " 6 gmutes
= Bells tihll ng simultaneously
utes. (el wow

e o TR
[¢) 989 - 5 =
1327 %7 = 1320
ubtract the remainder from the

. nuber. (G § ¥ WI6GA H TN T

“ HCF = (984, 1320} = 24
i} greatest number take HCF of the

. “numbers (Afuwan vem ¥ fau FEmed

= A, T
{c) 75 litres, 45 litres

For maximum capacity take HCF
(sfaEaT gua % foe om, #) (75, 45)= 15

() Let numbers be (A1 fF Fe&amg)

=x’y

x:y =3 : 4 (given}

HCF = 4

- Numbers are = x =4 x 3= 12
y = 4x4= 16

LCM (12, 16) = 4 x3 x4 = 48

@18 -7= 11

21 -10 = 11

24 -13 = 11

take LCM (18, 21, 24) = 9 %2 x7

x 4 = 504

= required number = (504k - 11}

which is divided by 23.

504k - 11

23 i
Remainder should be zero (Fraw@ A
BT e
Put minimum value of k so that it
completly divides 23.
= at k= 6, 504k - 11= 3013
completly divisible by 23.(23 ¥ Pl
famfa %I}
. required number is ( A4 F@¥) = 3013.
(b} HCF = 16

LCM = 160

Ist number = 32

Let llnd number = Xx

. For

Product of number = LCM x
HCF
32 xx= 16 x 160
16160 _
T T332




27. (ByHCF = 37
. Let the no. are (A f& wEm)
=37x & 37y
given, 37x x 37y =
-xy= 3
possible factors of x y (xy & ®aIfGa
e = (1, 3)
. numbers are (37, 37 = 3) = (37, 111)
greater number is (@ TEM = 111
(c) LCM of (21, 36, 66)
= 21 x 12 = 11
= Tx3x4x3x 1l
= Tr3Ix2x2x3x11
for perfect square muitiply by 7 x 11
(yof =t & fA7x11 9 70 =)
So that pairs of number from perfect
square (3: W @ ¥ YEe # W)

RN Ak ok Rk ok Rkl ey
required result is (31 vftom

= 213444
(which is perfect square (% @ ot =i §
@j4-1 = 3

5-2 =3

6-3 = 3

ILCM (4,5, 6) = 4x5x3 =60
-, required number is (3R &M

60-3= 57
B LCM (4, 6, 10, 15)

LCM = 2 x 2x 3 x 5= 60
= least number of six digit

(6 ¥iF  wm d&m = 100000
= divide 100000 by 60 we get
remainder 40 (100000 % 60 ¥ «m
T T AT 40 M@ oA )
= least six digit number which is
divisible by (4, 6, 10, 15} given
number is (6 FH I AN TEW W 4,
6, 10, 15} 94 fawfam ¢ 1)

4107

28.

29,

30,

(100000 +(60 - 40)) = 100@@""’;l

~ N = 100020 + 2 = 100022 %
* Sum of digits (3 1 9
= 140+0+0+2+2 =5 t,,_g:3
31. B)LCM (12, 18, 21, 40)%,
4 x3I x6xTFTx 3 :
So, required numbe

2520
= > -
32. (d) LcM 6 ¥24)
= 5x%x2 = 240
= for e no. split the LCM into

its factors (El"f TEn B fau =8 =
rﬁm‘

= 5x2x2x2x2x3

=T

33.

34.

36.
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(¢} Distance () = 5 km 37. {c)Let numbers are a, b, c. (A fF
1 Head w4, b W o §Y)
Speed of A (A ¥ Tfd) = 27 km/hr = a, b, ¢ are co-prime numbers

2
Time taken by A (A 30 ffn ™ w79

(I HEm)

HCF of co- prime numbers (99T
5 e | AR = 1

= =x2 = 2}
5 ours ~ HCF{a b, ¢} = 1

= Speed of B (B & M) = 3 km/hr ~axb=55 bxc= 1073
i R 5
Time taken by B (B® g femn } axb 1073 37x29

S5 = = -

3 hours bxc 551  19x29
= Speed of C (CH T = 2 km/hour a 37
. Time taken by C (C % §R f&a

5
) = 2 B
LCM of numerato > 5 5 d
numerator T
=5 X =2 =
HCF of denomintor 3’3" 2 88. %H?F of numbers Wai[ WERY= 7
N N 4]3& the numbers are 7x and 7y

10 5 5 % f I s wed 7w Ty ¥ )

532 B Ted LOM = Ty
Y % 7y - 140 (given)
10 .r""-!". Pk = 20

LCM = - - 10 T Xy
Th - . M‘ = possible co-prime factors of xy

ey will meet again ?‘Qer i
hours (3 T1: 10 902 IR by T

= (1,20}, (4.5

{d) Required no. of t%s eqe [ZT%FH’E E0f

= numbers are between 20 and 45

@@ 20T 45 % G F ¥ )

apfiee He) =
. o s Required numbers are
Sides of tiles is H§F (1517, 902) = 41 47~ 28and5x7o 35
:reaofiulc‘? E!ﬁ! ’|.=4]><41 = sum of numbers are = 28 +35= 63
- o. of feg (4 N 39. () HCF = 15
LCM = 300
- 814 1st number = 60
Kumbers are A & B Let 2nd number (A f+ 8T WEm) - x
clively (| fiF weamd #wv: A aon HCF * LCM = 1st Number x 2nd number
15 x 300 =60 x x
A B x=175
2x @ 3x (given) - Other number (3 H&) = 78
lAfCM N 2 : 3ﬂ’1‘ x = t‘?x 40. (QHCF = 23
ceor me%x 0= esfues ton, . Let numbers are [OF fF Tl
Y = 9 - 23x, 23y
L A=2x=2x9 = I8 « LCM = 23xy
B=3x= 3x9= ‘27 = Now given that factor of LCM
. sum of numbers (@& | AW are 13, 14 (Rarm it ER ® LUK
=A+B= 18+27 = 45 13 70 14 &)
(3x+ 24 = Sx= 5x9 = 45
wLCM = 23 x 13 % 14

{c) Let numbers are A & B

respectively (M frdemd w99 A 9o numbers are = 23 x 13
B ) = 209 and 23 x 14
A :B - 322
4x : 5x {given) larger = 322
S LCM= 4x5xx= 20x 31. BHLCM 6,8, 10)= 3x2x4 x 5= 120
L 20x = 120 42. HLCM(4,6,8,9) = 2x2x3x2x3

x= 6 = 72
T A=4x=4x6= 24 - Required result should be (F¥i=

B=5x=5x6= 30 I = 72




43. BLCM (3, 4, 5, 6, 7, B) 49, (c)10-9= 1
3x4x5xTx2= 840 9-8= 1
= divide 10000 by LCM §-7=1
L0000 . LCM (10,9, 8)= S5x2x9x4= 360
= “gap - Ve get remainder = 760 - required result = 360 - 1 = 359
_ 50. (JLCM (5, 6, 8) = 5% 6 x 4 = 120
Now two possiblities are (3% & o = Required number gives remainder
T YER = 10000 - 760 = 9240 3 when divided by (5, 6, 8) and
or 10000 + {840 - 760) = 10080 zero remainder when divided by 9
So, nearest number is(37d: Freean Ham (e d=m ¥ 5,6, 8% v w3 WY
= 10080. A & T 9 W M A W 0 W9 ITA Y
44. (a) 1305, 4665, 6905 are three
numbers ~ 120K+3 3K+3
greatest number which leaves same . 9 = 9
remainder in each case. To find
this take difference of numbers _ + A
(1305, 4665, 6905 A et ¥ | yew at k=2, —5— = Remainder = 0
feaf o e vreer 27 A i g we get120K + 3 = 120 x 2 + 3 =
A %7 % fore 9 7 Temed 1 siw 243 which is the required number.
51. (BLCM (3, 5, 6, 8, 10, 12)
= 1305 4665 6905 ~ axsxaea - 190
\@",/ W Required number is {F9= Hem
<1 _ 120K+2 10K+2
. 1120 is the no. which leaves the To22 22
same remainder when divide LOK+3
+
1305, 46653, 6905_ . . atk =2, = Remainder
.. sum of number digit (&M F WH 22 “ 3 !
UM > 1+1+2+0= 4 The given condition satis '
45, (cJHCF = 4 = 240K + 2 = 240 + 2 242
- Let numbers are 4x and 4y (@1 52. ()307 - 3= 304 &,1
fi wend 4xadr ay € ) 330-7= 323
g‘mns‘_]m-4x+4y=sﬁandx+y=9 = HCF [304‘()—32
possible pairs @I WE) = (1+8), 304;'“»? ‘%323
{2+7), {4+5}, numbers should be co :
prime, Hence only 3 pairs(3Hg9= HCF
et o wfen | am: wEw 3 W |
tva ) The gréa
46. () 53. et Y .
] Qrceirin) BT LTS
- - 85x = 680
HCF = (120, 240) = 120 v=8
. answer = 120 %“% %Qf‘ HCF = 8
47 ‘d”LLCF = ;6 i1 | LCM=84x8= 672
t numbers are 16x an ¥ @f: 56 x v = 672 x 8
¥
f el 16x T 16y #) ) :
16xy 480 °"'° - B672x8 _
s y 56 96
posmble pairs ‘}ﬂi 54. (d)Let HCF = x
= (1,30}, (2, 15], LCM = 20x
possible nu 'H@qrq) sum of HCF + LCM = 2520
= (16, 4 (3@ &Q}, (80,96) = x+ 20x= 2520
. 80, 96 is I er in the given 21x '1202520
optlon§ W it x =
48. B12 - 5% vs * HCF = 120
16 - 9-17 LCM = 120 x 20 = 2400
Remainder always remains same in . one number = 480

such question, @9 TFR % YAl § Foed
T TR BT 2
. LCM (12, 16) = 48
. Required result =

iy

48 - 7 = 41

betanother fmamber (YA fF 37 @)= y

oy x 480 = 120 x 2400
_ l20x2400
y= 480

55.

56.

(B LCM (12, 15, 18, 27)
= 4x3x5=x3x3= 0540
= largest 4 digit number (4 35 R
A dEm = 9999
on dividing by 540 to number {4
S F arfirkad W ¥ 5408 A W
e gtmy
9999

540

remainder is = 279
~. required number =

= 9720
{d13026 - 11 = 3015

5053 - 13 =& 5040
=  HEF @p15, 5040)
70l B 5040
%
A 2025 = (45x45)
between

9999 - 279

=

* difference

= take
The HCF may be

%ers‘
% ence itself or may a factor of

his difference. (dema # W T |
70 W @ TEel | AR B W I AR

%. oS Em aﬁé o)
i HCF = 45
1 57. (a) 1657 - 6 = 1651
2037 - 5 = 2032
2032 - 1651 = 381 = 127 x 3
HCF = 127
58. (a) Product of two numbers

60.
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@ dEmat w1 PEEE) = 1280
HCF = 8§

1280

=

= 160

{d) LCM {6, 9, 15, 18} = 3x2x3x5= 90
Required no. gives remainder 4
when divided by (6,9,15 and 18}
and zero remainder when divided
by 7’ (3 W@ H 6, 9, 157 18 R
ar 3 T FAFA 4 WA I T aq
wEm H 7@ 9m 31 W ANEE [ TS

wa )

90k+4  6K+4
7 7
6K+4 .
at K = 4,-7— = remainer = 0
So, number is 90K + 4 =80 x 4 + 4
= 364

we get 364 which is the requred no.
ity LCM (16, 24, 30, 36}

= 8x2x3x5x3=720
Largest 5 digit number is = 99999
divide 99999 by LCM (720)

99999

720
So, The largest 5 digit number which
divides completely the given number

is (5 31F! 1 a8 wAfrRaw dem st D

, we gétremainder = 639

wem ¥ fawfia )
= 99999 - 539 = 99360
" required no. is 99360 + 10
= 99370




(b) LCM {16, 20, 24) 67. (c)HCF = 15
=8x2x5x%x3 Product of two numbers

= 2x2x2xPx5x3xSx3 (ﬂu@m’fﬁlg‘rﬁm=6300
LJ L i—‘i’

o Let numbers are 15x, 15y
multiply by 5 x 3 to make pair + 13xx 15y = 6300 (given}
- The least perfect square is [FH 6300
pof o #) = 4x4x15x15 = 3600  =isas = 28
(bl LCM (25, 50, 75) = 25 x 2 x 3 = 150 possible pairs are = (1, 28),(7, 4)
=» Remainder when 43582 divided .. Total pairs = 2
by 150 68. (H)LCM (5, 10, 12, 15)
43582 = 3x2x6= 60
BT get remainder = 82 smallest no. divided by (5, 10, 12, 15)

X . leaves remainder 2 and when
= Two possiblities are @ WAL divided by 7 leaves no remainder

¥R § . 60K+2  4K+2
= 43582 - 82 = 43500 is 7 - 7
or
43582 + (150 - 82) = 43650 4K+2 .
Nearest (F7Feam) = 43680 at k = 3, @ Remainder = 0
. {a) HCF (336, 240, 96) No. =60K+2=60x3+2 = 182
336 40 & 69. (c)LCM (9, 10, 15)

2 9
=3 x 3 x 10 = 90
—96 - 144
\_/ u 1936 ‘
W 90 ° remainder = 46

{ayLet HCF = x

LCM = 12x {given)
.~ HCF + LCM = 13x = 403
x= 31
o HCF = 31

LCM = 12 x 31
one number (el &M = 93 given
Let other number is ([@FT 77 T o4 v
L 93 xy = 31x31x12
y= 4x31= 124
{d)Let No. are a and b
a x b = 20736

HCF = 34
we know that (8= b) = (HCF x LCM)
2073&54 *x LCM
20736
54
= 384

. )% -2% 10
‘dbg-s- 10
% - 14 = 10

M (12, 16,24) = 6 x2x4x 1= 48

, :%greatest number of four digits (4 WHf

HCF = 48 least number when is subtracted ¥ sifyram dem = 9999
336 f;‘m; 193;5 '3’:_1“311: Slvesofema} { « when it is divided by 48 we get
- Btacks of english = —== = 7 when civi Y {9, 10,15) 48 Y remainder (T T 48 ¥ w1 &1 o # A
T Hem R 1936 ¥ ¥ e AT = 15
240 feafs & 7 ¥9 a5 afg 39 9, 165 @ .
stacks of maths = a8 - 5 am fen - (46 30 : = The greatest number of 4 digits
70. (a) 18 - :IE_J_ 1{3 Te . o which completely divides the given
stacks of science = 9% ) S 7 14 12 .4 % Y number is (4 FH F 9T AYFIN TS
48 36 - 23 = 13%@’"" S % 7§ wemat 3 quia: faafsa &)
o total no. of stacks = 7+ 5+ 2= 14 - LCM (18, 27, % 2x3x2=108 = 9959-15 = 9984
. () Let numbers are (W1 % demg) requiredfpu =/ '108 - 13 = 95 . number is = 9984 - 10 = 9974
= 2x, 3x, 4x 71 [} LCM ( 2,%96, 64) (a) LCM (15, 20, 35)
given,LCM {2 x 3 x 2)x = 12x 3x2= 576 =5x3x4x7
12x = 240 {given) &= 576 -5= 571 = 420
x= 20 number are x and y required number = 420 + 8 = 428
numbers are = 2 x 20 = 40 mﬁimm:xm y%} (d)Let the numbers are = 3x, 4x
3x20= 60 Xy respectively
4 %x20= 80 _ " 3:4 (given) ~ HCF = x
'.sma]ll;r;1340('5ﬁfm40'3’} . = Let 3m : 4m ' LCM = 3 x 4% x = 19x
fc)A+B= 45 Ml S LCM= 3x4xm= 240 (given) given that = HCF x LCM = x x 12x = 2028
A-B= 5 =35 = m= =20 ® = 169
~ A= 25 B= 20 . numbers are = A= 3 x 20 = 60 x =13
.. LCM (25, 20} = 5,(5,(%100 B = 4%20= 80 ~. sum of numbers = 3x + 4x = 7x
66. (c)HCF =17 1 : : Y =7x= 7x13= 91
A N ». least number is 60 (V%M TN &0 ¥1) -
~ Let numbers are EFNF T 73. (c) Let numbers are m and n 80. (c)HCF = 48
= 17x, L LCM x HCF = 24 (given) .. Let number are 48x & 48 y
LCM = ” (given) LCM x HCF= mx n respectively
Xy - 42 s 24 =m %x n, But mmn = 2 given = 48x + 48y = 384
possible pai i so, such value is (6, 4) and greater

(1, 42) 1406, 7) no. = 6
possible are(¥uim ey 4 (DHCF = 27
(17, 714, , (51, 238},(102, 119) - Let numbers are 27x and 27y

respectively

but given tWat both numbers are of .

three digits (@fFa &1 70 2 5 dend - 27x + 27y = 216 given

3 st # &) 216

- numbers are = (102, 119) = x*y) = Z7 =

", sum of numbers (S&T F IM) only possible factors are (HfEa o 2y
= 102 + 119 = 221 = {1, 7),(3, 9)

384
=
(x+y) 8 8

s0, possible pairs of coprime no.
are (A% AN Hemdl & Hwiigg W)
(1, 7). (3.5)

- mumnhers are €48, 336 Jor (144, 240)
o difference between numbers is
emst & 99 F AT = 336 - 48

= 288 and 240 - 144 = 96
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81.

82,

83.

84.

85.

86,

87.

88.

=]

{c)Let numbers be 12x and 12y 89. (c)Let numbers are = 3x & 4x
respectively respectively
LCM = 12 xy LCM = 84 {GIVEN)
12xy = 1056 (given) .. LCM of number = commeon factor
xy = 88 {other factors)
- possible pairs are {1, 88) (8, 11j = xx3x 4= 12x
possible numbers are 12x = 84
= {12, 1056}{96, 132) x =7
given that one number is132 so ~ numbers are = 3x =7 x 3= 21

other is 96 dx =T x4 = 28
(a) We, know that = (ax b)= (HCF greater number is (¥} WEW ¥ 28
and LCM) 90. [b] HCF = 12
396 x576 = HCF x 6336 s Let numbers are 12x & 12y
HCF = 36 respectively (A0 5 et wwm: 12x
{)HCF = 8 am 12y ¥ )
LCM = 48 .. given that (12x + 12y) = 84
One number = 24 84
Let other number be = ¥ = x+y = 12~ 7
2y - 4 ey e
(b HCF = 12 = possible factor are (@9 % &)
LCM = 336 (1+6),(2+5),@3+4)
r Total factors are 3
One number = 84
91. {¢}HCF = 3
Let another number be = y .. Let numbers are 3x & 3y
. 84y = 12 x 336 respectively
y = 48 LCM = 3xy = 105 (given)
(d)} Product of number (H&NA H 105 Q’
TR = 216 = xy= 3= ﬂ
HCF = 6 = also given = (3t R = 36
_ 216 x+y = 12 X ‘
M= & 36 .. we required s reciprocols
(a HCF = 18 of numbers (B‘f | S F T
LCM = 378 Ny
One number = 54 { x+y
Let another number be (IFI 371 ¥&A} = y } = Bxy

. B4y = 18 x 378
18x378 3
y = 54 - 126 35

{b) LCM (20, 28, 32, 35)

- 4x5x7x8 = 1120 ™ given HCF +LCM = 44x+x= 45x
LCM = {20, 28, 32, 35) = LI78 \ 45x = 1125
1120 divided by 20, 28, 324g# J 1125
completely % X= T45 T
- Let x be subtracted from 5834, s HCF= 25,
5834 - x = 1120 LCM = 25 = 44
x = 5834 - 1120% 7%@ = also given that one number = 25
{d)LCM (6, 12, 18}y f‘w Let another number = ¥y
LCM = 6x2x3 =76 L 25y = 25 x25x 44
= To find rf@&m split the I5x 2544
LCM into 0 make pair of ¥ = T a5
factors so {Hat e becomes the 1100
square. FAF MU AT B 93 () HCF = 12
] ﬁﬂ'{mmm ;. Let numbers are 12x & 12y
MU I M A IR respectively
= LCM = 2x3x2x3 = 36 LCM = 12xy = 924 (given)
2x2x3%3 = =77
L Lyt % = possible pairs are
= which is already a perfect = (1% 77) {7 x 11)
square (@ fF TOR A w P ai 2 ) . only two pairs are possible

1

94.

95.

96.

Q y= 25
) HCF = 13

98,
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{a) LCM = 520

HCF = 4

one number = 52

Let other number is = ¥y
» 52y = 4 x 520

y = 40
([d)HCF = 96

LCM = 1296

one number = 864

Let other number is = x
c BB4x x = 96x1296

x = 144

{b) Let HCF = x
L LCM = 4x

LCM = 125

» given HCF
x+ d4x ¥

glven one number = 100
t other number is = ¥y
100 y = 25 x 100

(given)

Let number are 13x & 13 ¥y

respectively (1 T Heag #99: 13x

M3y By

o also given 13x » 13y = 2028
13 % 13 x xy = 2028

2028
X = 13a3 =12
. possible pairs are (Gafad 2
=11, 12) (3, 4

only two pairs are possible (Fa1 R
@2 | #)

id)LCM = 120 {given)
LCM is the product of one common
factor and other different factors of

the given numbers.(@H. TF ITFRS
TUREE a4 T TSl & 3= orgvel
FIPHED 1)

. factorize the given LCM

(ALH, 1 PrEE ) o= 120
2x2x3x5x2
4(3x5x2)
= Here 4 is common factor
@t 4 3afie: TAEe )

{common factor is the HCF of the
given number(SWFS TrETT |
Hem wt 9.4, 2))

HCF = 4
Sg, for the given numbers the HCF
should be multiple of 4 (¥@; & T
Tema A, 4 F IO A =Y )
= Hence go through options
which is not a multiple of 4 is 35
{om: fedl s @ A @R 38 T Emy
5 3 =t gz 4 T o T 2 g

Hence answer is 38,




99. (d)LCM (16, 18, 20, 25}

= 4 %x4x9x5x5= 3600

= 3600 will be completely divisible
by the given number so,
4 remainder obtained by adding '4’

in the LCM (3600 & ¢ deasi 16,
18, 20, 25 ¥ yofa: fawfwa eit fog
THE 4 W F F e 7 4 T Ay
= But it should noi leave any
remainder when divided by 7 [ﬁa"ﬁ
78 W W AEA @ wE Ea )

So, given number should be

(3600k + 4) _ 2K+4
7 7
2K+4
7
at given condition satisfy.
= No. = 3600K + 4 = 3600 x 5 + 4
= 18000 + 4 = 18004
(b} LCM (24, 36, 54)
=12 x2x 3 x 3= 216 seconds
= They will changes imultanecusly
after every 216 seconds (3 T4F 216
TPV F YTER TF Y Ty

216 36
=60 = '366
They change 1Ist at 10:15:00 am
S0, again they change at

= 10:18:36 am
(b} For HCF of fractions take HCF of
numeratiors and LCM of
denominators (FF=if # 74 7@ FH &
fom ofel 1 ma. P v W = AW
Fremt)

HCF of 3,5,6 = 1

LCM of 4,6,7 = 84
Hence, HCF of fractions (310: f=i =1

1
AR = 52
{a) LCM {200, 300, 360, 450)
=10 x 4 x § x 3 x3 =
seconds
= They meet at the starting poifg }
after every 1800 seconds | Y
1800 B9v8 % a1 ARwE fagal gy frei)
{b) LCM (20, 30, 40)

at k= § remainder = 0

100.

= Iminute 36 second

101.

102.

1Y

k]

103,

104,

= For largest flocks take HCF (G
T2 FrE F fog w.w, Freme)
= 945 2475

=1-

-1530

= For HCF take diiference of
number HCF will either be the
difference or its facter (A, ¥ & fay
HemaAl F JR T@ H | oG @A qw AW

105.[)HCF = A {given)
LCM = B
given numbers are x & ¥y
respectively.

(Product of numbers is (W&ma

T N R W SR S Ty TORE) = Product of LCM x HCF)
= 1530 = 17 x 3 x3 x 5= 2 - = AB
=17 x 2 x 45 Now = A+B= x+y
HCF = 45 (given)
» Maximum animals in each flock Take cube on both sides (@ 9&l 1
=45 [ E W
. Neo. of flocks of cows are SA+BPF= (x+ypP
(T3 3 oS wi HE) = A + B® + 3AB (A + B)
045 =4y + 3y (x+ y)
=E—‘21 =A%+ sés*+3%q[x+y)
'»"?*W *Q;S)&[xhy}
= No. of flocks of sheep are . A® oy
2475 {Put AB xy {rom above}
i # grai S FEm = - =55 109.(c) HCF =wdd
45 . _M = 264
Total number of flocks ({@ TS =i ’ "Qt numbers are = x & y
&) = 21+55=176 »gy § x
(45, 76) R I given = 5 = 44
105. (b) LCM (10, 15, 20} o X = 88
¥ 4 - : 'afr -
= S5x2x3x2 60 P HCF x LCM 44 % 264
= Largest 4 digit number (4 ﬁﬂff Ly= . = gy =132
LS
:f‘aa:rq “;jm :999 . e 110. c) for maximum distance covered (@9
ivide 9999 by LCM of given %t 1 A g 9 =0 F faw Awm
number (9999 ¥ % THgEheti 3 7M. 3 foe)
LIS *‘r ¥ LCM (63, 70, 77)

= We get rem d?r”‘r 39

= So, tq div, ggdk%;completely subtract
it frorl’x». Ny
0999, e 9960
99&0 -the largest four digit
Qupb Mwhich s completely
the given numbers (9960}

El?mmm% =t A 7 wemed =
ot e i

ﬂpﬁ {c)411 - 3 = 408

. 684 -4 = 680

. 821-5= 816
= Take HCF of given number to
get required greatest number (3=
Afgwan Te 9 w5 o § w weme
% A9 71 H))

- 40

272 \%‘/
N

136

» HCF = 136

take difference of the numbers.
107.(b) HCF = 5
Ratie of numbers

So, numbers are =

LCM= Sx3x4=

is{3:4)
15 & 20
60

given
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= 9x7x10x% 1i = 6930
. {d} for greatest number divide to take
HCF
HCF
200 320

N

120=40x 3
{for HCF take difference or take
factor of dilference)

HCF = 40
{for greatest number divided by take
LCM})
112. (¢ HCF = (84, 90, 120)
= 84 90\—/120
24
= b6x4
HCF = 6
. maximum no. of books in each
stack = 6.
113.(0) 729 -9 = 720
901 - 5 = 896
HCF (720, 896}
720 896
176
= 11x16
= HCF = 16




114,

115,

116.

117.

118.

=]

(a) HCF = 12

given ratio of numbers (F&ni w1 frm =T %% = %
T AUE) = A B:C y
1 2:3 x 2
. numbers are =A = 12 Fraction = o = 7
B= 12x2= 24 numerator = 2
C=-12x3= 36 denominator = 7
{12, 24, 36) LCM (numerator, denominator)
([ HCF = 2 = 2x7= 14
given ratio of the numbers = x:y g 4 4o of fractional numbers is (=l
= LCM = zxx=xy = xyz ?ﬁ‘qﬂ.)
LCM is the product of HCF and other ’
factors (WH. 94 3 VAETEl 1 TG ( HCF of numerator
a4, g By LCM of denorm’nator]
(b} Let two consecutive positive even
numbers 246
are (2x + 2) and (2x + 4) (70 5 @ . HCF [357]
TAIRR YRS WY e wEE: (2x + 2)
3R 2x+ 4) [HCF2,4.6]= 2 2
HCF = 2 (given) ~ (LCM3,5,7) 7 3x5x7 T 105
common (factor} 120.({0) 110 - 2 = 108
L LCM = 2(x + 1) (x + 2) 128 -2 = 126 ,
U . HCF (108, 126) = 18
HCF {other factors) 121. (b} for least or minimum num!aer of
S LCM = 84 (given) canes we should have maximy

capacity canes for required g

L2+ 1)x+ 2)= 84 mqﬂwaﬁmg}m
b+ 1fx + 2) = 42 AfGFTH T F ¥ 5 e ) ‘-,
= B+ 3x+2 = 42 [
= For this we take HCF‘ o
¥+ 3x+2-42= 0
2+ 8x-5x-40= 0 quantities. (7% fere g
= Mx+ 8 -5 [+ 8 = A W )
x-S)x+8 =0 HCF {21, 42, ﬁ@m
x= +5 ~ Maximurm f a cane (TH
X = -8 %7 ®F A ) L 21 litres
But numbers are even, so (x = 5} - Numbel, df s of cow milk (W
» Number are = 2 x 5 + 2 = 12 . '?gf“‘a’ a1
and 2x5+4= 14 %qty wem - o7 - 1
- su_m ofm:znbersare— 12+ 14 =26 Number of canes of toned milk
()P = 2 310 5 R 0
Q= 2537 ,
HCF (P, Q) = (common factor of P p7d B FA w HEm = 21 =2
&Q = 2.3 . number of canes of double toned
% % railk (3961 3= 1%: 2 o %t wem
fa) Let fraction is =
x-4 1 21 =3
ytl 6 M’ . Total number of canes (®1 Ht FA
e = 1+ 2+3= 6
= cross multiply tﬁ%‘% 1\0‘1'1 122.(c)G.C.D. = Greatest common
=6x-24= y+1 divisor or Highest common factor
bx - y- 2.5 = ’9 ‘i'ic' (i) (HCF) @.3)
X+ : Let G.C.D. = a
again, y+1\*; g (given) . Let number are ax and ay
= Sx'ﬁ@g LOM ~ axy (ax> ay)
3x- ¥ (i) = LCM = 2 x larger number
From equaliton [1] and (n) Laxy= 2 xax
bx-y= 25 Ly =2
3x-y= -5 also given that
x = 10 = smaller number — G.C.D (45) =
= ay—-a = 4
y = 35 2a—a = 4
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a = 4
GCD=a-4
= 2

. sma.ller number (I e
=ay = 2x4= 8§
123. (d)HCF (GCD) of a, b number is 12
and a > b > 12 (given)
~ smallest value of a & b are (36, 24)
124, (a) HCF of co prime number is
always 1 (HEIRY SENs = 9.4, g8
1 gim 2
s Let numbers are
respectively

Product of numlpr @En3 = IVE)

f&l 1‘% {given)

oYnumber (FEAHT W

x &y

LCM

F= 12

12 )
%;’{ﬂet rmambers are 12x & 12y

. Product of two number = 12x . 12y

g Wy = 144xy
Yd = l44xy = 2160
*’- = xy = 15

possible pairs are (1, 15), (3,5),
factors should be co-prime. Two
pairs are possible.
(&)

HCF 27

LCM 2079

one number = 189

‘126,

given

Let another number be y (A1 fF 3=
e y &)
= Product of numbers = LCM = HCF
L 189 x y = 27 x 2079
¥ 297
}LCM (5, 7, 8, 9, 12)

LCM = 3x2x7x4x3 = 504
They will toll after every 304
seconds (@ T&F 504 THUE F A iy
{b) LCM of any fractions is (fFft fa=
F A4}

127.

128,

LCM of numerator
HCF of denominator

¢

LCM(2,4,5) g 20
= HCF(3,9.6) = 3 = 3
() L.CM of 6, 9, 12, 15 and 18 = 180

If 180 is divided by these given
number rernainder will be

(af% 180 = T W& ¥ WM £ 9
¥Ee ¥ 99ml)

= To Leave the same remainder 2
= The number will be = 180 + 2 = 182

=

2 4 5

= 379 6

o 2

= ans.

129,




130.

131.

132.

) -1 = (x¥P-13

Using = a*-b® = (a - b) {a +b* + ab)

= (x2-1) (e 1+x3x1)
= (-1} (x*+1+23)... (i)
Again,

X4 253~ 2x -1
= x-1+ 2x (F-1)
= 212 + 2x{x*-1)
= (x%=1)(22+1)+2x(x>-1)
= -1 (B 120 . (T
= from equation (i} and (i}
H.CF is a common term

H.CF = (x-1)
b) According to the question,
(FFITER)

2300 3500

-32 -56

2268 3444

W
Difference

1176 = 42 x 28
S0, Factors of 1176 is 42,28
~ HCF of 2268, 3444 js = 42

() LCM of 12, 16, 18, 21 = 1008
Next number = 1008 x 2 = 2016
Divisible by all

» 16 is added

Surn of digits(FF F W) = 1+ 6= 7

133.(d} LCM of 5,6,7&3 = 840
840n+3
9
3n+3
= 9
= Take n = 2
= 3(2)+3
= —=Remainder=0 .
9 oy,
""ik,_
Y

=]

= [Rcmaindel—wg}

135. (c) We know, (F9 S 21
LCM = HCF = Ist No. x IInd No.

136.

137.

138.

139,

140.

Let Ist No. = K

lind No. = 4K

K x 4K = 21 x 84
K =21

Then No. = 21, 84

So, Larger Number{ Tl T&M) = 84
{b) According to the question,
LCM = 12 HC.F
H.C.F + 12 H.C.F = 403
i3 HC.F = 403
H.C.F = 31
LCM= 372
cLCM~HCF=ax=xb
372 % 31 =93 = b
b =124
{a) According to question,
HCF =49
= Then the two numbers will be
9a, 9b
(3 < wemd giit)
= 9a + %h =99
= a+b=11

= Pair of positive integer { SFFI o)

(1, 10), (2, 9, (2, 8}, (4.7), (5, 6) =

(a) Let the ratic be (T fF 3Hu@) = x

141,

142,

143.

= Then two numbers will be 4x

and 3x(a 2 WEad 4x a0 35 T
= L.C.M. of number

{(TEms | ARA) 120
= L.CM. of 4x and 3x = i2x
= Se, 12x =120 . %

x =10
= Therefore, the smn of numkber i1s
= 4x + 3x .
= X . .
= 7 x 1G= 70
[a]LCMof \l? 18, 21, 28 = 252
As, we:know Ereatest four digit num-

i

.wr(ﬁqwmﬁﬁwmﬁm

az*r TET )= 9999

2_SQj 9999 i39
=756

2439
-2268

171
= 9999 — 171
The number will be = 9328
{a) We know smallest five digit
numbers is

(TR W 2 T v atE 9t e B
W)= 10,000
= LCM of 12, 18, 21 =

252 ilOOOOi 39
- 756

252

2440
2268
172
Difference = 252 - 172 = 80
= Number should be = 10000 + 80
= 10080

(b) LCM of 30, 36, 80 =
Number = 720 %« K + 11
Then number = 720 = 2 + 11

= 1440 + 11 = 1451
{a} Greatest prime no.(¥E¥ TE A
) = 97
Least prime no. (o8 B 3957 TEM)= 2

720
K= 12

So. their difference 97 - 2 = 95

{c) LCM of 12, 18, 21, 32 = 2016
20i6 x K = 2016 = 2 = 4032
K=2

“4032" is the number which is com-
pletely divided by 12, 18, 21,
32(*4032" T Hem s 12,18, 21,
32 § fawffy 3.

144 (c} ,!" g
PR
H.C.F - H.C.F = x (let}
LOoM 30 = L.OM = 30x
._:_LCM _H.C.F = 493
30x -X= 493
x=17
H.C.F = 17
LCM = 510
SO, NO, = 173., 17b

LCMx H.CF =1 x I
510 % 17 =17a x 17b

ab =30
Possible no. of pairs
= 30
~
1 x 30
2 x 15
3 x 10
5 x 6
= 4 pairs
145. (b) e

x, x+1, x+2, x+3

Ist + lInd = IVth

x+x+1= x+3

Xx=2dM =2+3+4+5 =
@AW 2, 3,4, 5

14

146.(d) 210=21x10=7=x3x2x 5
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take 2 and 3 with together
than we find number is 5, 6, 7
which is consecutive number
(2 31 3% TF A W 2 I e
Hfiow H= 5, 6, 7 TR ?)

B0

B+ MM=5+6=11




